ARBETSBLAD 33

Addition och subtraktion av brak (1)

1 Skriv med siffror de berikningar som bilderna visar och rikna ut svaret.

a) b)
2 a)z+g= b)i+é:
3 3 5 5
3 a)ll—gz b)li—zz
3 5
4 a)£+g= b)§+§=
6 6 7 7
5 23 12 a2 13-
4 4
6 ol d_ NENE
10 10 8
7 a)3l—2%= b)£+é+l=
6 6 9 9 9
8 Vilket tal 4r x?
a)x+§=1i b)x—izé c) é+x=2l
6 6 5 5 7 7

.
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ARBETSBLAD 33 - FACIT
Addition och subtraktion av brak (I)
1 93+3-8-41 5 a1t
5 5 5 4
p12-L1-11 b2
3 3 3
2 a) 1L 6 a) L
3 10
b) 12 b) 2
5
7 a2
3 a) 2 ’
2
b) 1=
b) 12 9
5
1 8 ax= >
4 a)1- 6
6 3
b)x=1=
b) 12 5
7
c)x= 15
7
- %
.
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